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Course Title: Invertebrate-1
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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions: 1x5=5
fmleie @ @@ b evas Tex wis ¢
(a) What is tautonym? Give an example. +lh=1
‘“Tautonym’-43 K&l i€ | @36 Trizde 7S |
(b) What will happen if choanocyte cells become motionless?
Choanocyte (@7 a1 Fol 78 2 (53 o7 2AfFelfs F 72
(c) Explain the functions of macro-and micro-nucleus in Paramoecium. +lh=1
‘Paramoecium’~93 STF-43R NZ(@ NeFaeR Fw =y I |
(d) Define schizogony.
‘Schizogony’-43 | 1S |
(e) What do you mean by radial symmetry? Give an example. +la=1
SR Ay TeTce @I 9F0 Suizgd e |
(f) Explain the term ‘metagenesis’.
‘Metagenesis’ I AT |
(g) What do you understand by ‘Atoll’?
‘Atoll” FETCS 9 F I 2
(h) What do you mean by digenetic parasite? Give an example. +lh=1

Digenetic &R FoTC0 F @IRI? @I THIRA WS |
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2. Answer any two questions: 5%2=10
IS & @ 76 etim Ten wie ¢
(a) Schematically represent the life cycle of Plasmodium vivax.
Plasmodium vivax-43 G&=6& BHrag NG (01 |
(b) Give an account of conjugation in Paramoecium with diagram. 3+2=5
Paramoecium 93 F=egomis afgwita Soge oz ada @l |
(c) Write a short note on importance of coral reef. List up the factors for coral reef formaton.
3+2=5
Coral reef-93 (g T49 @3 TPl @1CAl | Coral reef-43 S10Gd P Trard Fl |

(d) Mention the salient features of phylum Platyhelminthes. Name on free-living and one

parasitic Platyhelminthes (scientific name). 3+2=5

7K Platyhelminthes-93 ST85fe 2o 2y (arefs S | 3l 7ifwa ¢
G Platyhelminthes-3 fReapTe I8 (&4 |

3. Answer any one question: 10x1=10
@ @I G0 2 Ted nie ¢
(a) Describe the life cycle, pathogenicity and control measures of Wuchereria bancroffti.
5+3+2=10

Wuchereria bancrofti-3 GIbF, @TW Ol G2 3 ARG WHEER Toirefe
o |

(b) Classify phylum Porifera upto classes with examples. Which cell of Porifera is known
as totipotent and why? 8+2=10

A< Porifera-a3 fafqeiol S @R Ao @47 Soge Turzzel wie | Porifera-93 &
(P totipotent eT I R (P oIl R ?



